—- =
“~ OOONOU A WN -

—t d ad eh ah b b b
OCONOYO S WN

20

FIGURE 1
235593

228150 M6x20
228968
0228975 M5x55
229466
229164 M4x35

235048

*235371
*235372
©0235042
235431
*235944
229018
229082
235207
228653
235218
235138
235518
0235517
*235516
228416
235238
228139
235806
235551
€235510
235552
23551
235716
235741
0235713
*235675
218895
235642
235107
235105
235106
229482
228935 M6
0228122
#235190
©235230
*235900
*235899
0228872
0235222
* 94006
235075
235221
0235229
235729
*235861
235674
235670
235672
228869
235742
102164
229075
228598
#228856
*0228857
228855
229250
228597
228853
235115
95646
235864
235287
235073
229137
235812
229464
0228943

M5x14

M5 x 20

TITAN 35
TITAN 40

[ Y S S S N S S O T | & J S T I T T S R R i i T S S b R N N N . N T T T N e A T A B G B N G il A i N 1 & I - N Y

107
108
109
110
m
112
113
114
115
116
17
118
119
120
121
122
123
124
125

- 229163

0229217
235217
235574
*235367
228955
235184
235205
235226
229064
235076
235310
236997
235210
228907
228909
228908
226022
235016
229129
236732 Ms
235281
FIGURE 2
228655
228910
235020
235225
235163
235216 mMs
228911
229152
228892
228722

M5x 30
M5 x 25

M4 x14

M5x 30
229457
0228913
228922
93771
229257
228138
229087
©229460
235248
228998
235239 Msx20
235244 M5x45
228934
229237

4 s (N 4 o a ) b

- A A N NDWN -

M) b ot b ok Q)+ N) = b —d ke 2 N) = d e (D s N) = =

| SERIAL NUMBER PREFIX - 01

THAN 35 /40

0

(

(@

— 39 38 37 36

i

67 66 62 50

SR




TITAN 40

O wWN -~

235479
*235135
0235478
©0235008
*0235178

NN =

TITAN 35

A OWN =

235800
*235135
#235799
*+235008
*0235677

NN = -

M

30
-
H il

3

[P S
{20+ S

L

P/N 229131

TILLOTSON HU 81A / HU 58B

WALBRO WT55

TITAN 40

TITAN 35 TITAN 40
TILLOTSON HU 81A | TILLOTSON HU 58B || WALBRO WT55
229373 carbur. 235449 carbur. 228527 carbur.
1 229388 1 1 229388 1 1 229198 1
2 226103 1 2 226103 1 2 229191 1
3 202733 1 3 202733 1 3 226037 1
4 202731 1 4 202731 1 4 226038 1
5 202730 1 5 202730 1 5 226039 1
6 202732 2 6 202732 2 6 229600 1
7 229599 1
8 229601 2

350



	Main Menu
	IPL Menu
	Bulletins Menu
	Tech Spec Menu
	Service Menu
	Titan 35/40
	Full Diagram
	Parts List
	Figure 1
	Parts List Titan 40
	Parts List Titan 35
	Figure 2
	Parts List Titan 35 TILLOTSON HU 81A
	Parts List Titan 40 TILLOTSON HU 58B
	Parts List Titan 40 WALBRO WT55

	Bulletin
	Service Bulletin No.005
	Parts Bulletin No.007
	Service Bulletin No.013
	Service Bulletin No.015
	Parts Bulletin No.39a
	Parts Bulletin No.041a
	Service Bulletin No.056
	Service Bulletin No.058
	Service Bulletin No.059
	Service Bulletin No.063
	Service Bulletin No.065
	Service Bulletin 1998-1


